B 7 OFBRREHAEATIVL D ES

-ME ORES

2nd Round
=15 ARYI RN M) —5957(6,776Yards  Par 72)
#H: 10A25H(K)
IUR)—: 1324
HiS: 1324
Kix:
SR :
TR
RAm :
JBLE :
297 1] 2|3 4|5 | 6| 7| 8] 9!0UT{10]|11 12|13 14|15 |16 | 17| 181 IN
7% &l g 533 | 485 | 169 | 332 | 407 | 556 | 180 | 363 | 440 i 3465 413 | 371 | 389 | 492 | 174 | 322 | 197 | 403 | 550 | 3311
Total | IR| 2R | 5 | 4 | 3 | 4| 4 | 5| 3| 4| 413 {4 4| 4|5 3| 4|3 | 4|51 36
1 |RHE | x 146 |71 |75 | A | — | —| — | —| — | — | A|AI39!—O|—|—]|—|10O0|—|—| A 36
2 AR * 148 |74 | 74| — | — | — | A | —| — | —| —|—it37:'A | — | A —| —| —]| —| —]01 37
3 | R#H - |« 152176 76 A | A —| — ]| — O] A| —|AI39 A —] O A]O|—]| A — ] —1 37
4 BEKFE |+ 15480 74 O|A| -1 O|—-—|A| —|—-—]0O0i13%B!—  A|—]A —|O|—|A]|—12139
EERE | x 154 75|79 | A | A | A|O|—|A|—|—|—140!A | —|A|O|—=|—-|—=|1A]A! 39
mnEERERA | * 154 ,73|81 | — | — | — | — | —|O|—]A| —136!A|+3| A |+3| —| —| —| —| Al 45
FOEHEH |+ 156 | 78|78 — | — | — | A | A|O| —| -1 A138!— | A3 A —| A O|—|0O1! 4
EF M= |« 15780 77 A | A | — | —| A —|A| -] —1H8 ! —|0O|—-—|——=—|A|—|—|—136
KE HZ | * 1588 73 A A| - -] —O|—-—10O0|—-4137T1—10O|—|—]A| =] A —]0 36
€FBX | * 15883 75 — | A|O | —|Aa|lA|A|]O|AIN A —|—| - —|—|—|—]01! 36
de#t FOFRK | * 15877181 | — | — | —| — | A|A|—|A| —139 A —| —|A|—| A —| A —! 4
mik &G |+ 15875 /83 O | A | A —|A A A|A| -1 HIA| — | A AA| — | A — | —1 4
13 | B ifE— | * 159 /8178 A | A|O| —| — | A — ]| —]| =13 —|—|—|—|A—|—]A]|A! 39
EH®E |+ 15977 82 — | A| — | O|—|A| —|—]| —1388I1A|A|A| —|A| — | —|+4]| —1 44
15 |FEfi% = * 160 180 |8 | A | — | — A A A|A|— O M A — AO|O|A]—]|—]A!239
£ FBH | * 16079 |81 | A | A | — | — | A|A| -] O —140!'A A —|—  A|—| —]|A]—1 4
ng # * 160 |77 |83 | A | — | A | — | A| -] A|A| -1 82— | A| -0 |Aa|A|A|A| A A
18 |[FNl —%k |* 161 /81|80 | A | A | — A —|A| -] —| =14} —=—|A|—|—|—| A| —] —] —1239
EHE E£B) | * 161 75|86 | — | — | A | — | A| A | A | A | =142 — | —| A| —| —| A | +3|+3| — 1 44
20 |hiE A * 16218379 A | A | — | — | A|—| =] = =139 'A| -] = A —| —| =] A| A 4
& EE |+ 162 /82|80 | — | — | — | — | A| — | A| — | —139'A| — | A —| —| = =] —| A 4
E =5 * 162 179183 | A O0O|A| —| —| —|A| — | A4 A —| A O | A | A A|—| A 43
I #EBh | 162 | 77|85 | A | +3| — | A | — | — | A | A | -1 4 'A | — | A — | —| A —| —| A 4
24 | BK * 16382 81 | A A — O] —| — A —|ATAWO!IA| —| — | A A|—|—|—| =14
25 BE IO | x 164 1 84 /80 —| —| — | O |3 — | 4| —| -1 2. Al A —| —]0O0|—] A O] —1 38
A FF=E | * 164 |79 /8 | A | A | —| — | — || — | O Al 821 A | —| —| —| —| A +3| A | —1 43
HMAFE | * 164 | 78 |86 | +3 | A | A | — | A |+ | 3| — | A ST —| A —|O|O|—| —|—] —1135
28 |{REE Bt |« 165 86|79 | — | ¥3| — | — | A | A | A| — AL M — | —| A —]|O|—-]0O0|—=]—1235
WE E * 1658 79 A | —| — | —| —| —| = | A]| —138!—|O| A| —| —| A+ —|—14
INR BE |+ 16585 80 A | A| — | —| —| —  A|A|AIBI—|—|A A —|—|—|10| —1 37
= 3/ - S 165/85/8 |+ | A | O|—| —|—-]O|A| -1 82— | A|A| —|—|—| —|—]—1 38
fRED #05L | * 165|179 |86 | A | A | A | — | H| —|A|A| —1 45— | —| —| — | A|A| — | A AL 4
HERLE | * 165 |78 |87 | A | A | A | A A | A | A|O| —1451—| —| —| A  A| A —|A] -1 4
34 PE MR | x 166 | 86 80 A | — | — | — | A | —|A|A|AIR2IA| —|O| A —|—] A —]|—1 38
KR Bt |+ 166 |1 84|82 | A | — | — A | —|A|A| - =T HITA| =] = A A|A| —| =] A 4
fEmE &2 | 166 | 83|83 | A | A | — | — | A|A | A|O| -1 IA| -] —|—1AA  A|A|A} 42
¥z >CEA * 166 | 79 |87 | A | — | A | — | A | — | 43| — | —1 421 —| — | +3| A | A | O| — | — | +41} 45
38 |/ ZE * 1678, /82 — | —| —| —| A |+ | —| O | Al 44! — | —| —  A| —| —| —| =] —1 38
E%H * 167 |83 84 — | A| — A | A | A A|—| -1 M IA| —| A —|A| =] —|A| =140
40 BREHH | x 168 184 |84 | +3 | A | A | A | A| — | A A| —1487T A A —|O|—|—|—|—] =137
HiE Fa |+ 168 (83|85 | A |+ | — | O | A|A|A|A|AISIA| —| —| —|+#|—| —|=]0" 40
R B |+ 1681838/ O | A | — | —| —| —| —| — | A1 38143 — |+ | A | —| —| A A| —1 47
NG EH | * 168 75|93 | A | 43| — | A | A | — | —| —| A1 431 — | A |+ | — | —| — | A | +7 | —1 50
44 k@ —F | * 169 | 85|84 | A | A | — | A | — | A| —| — | 1B A A A| —| —|—| A —| —1 4
R BER | * 169 18584 | O | A | — | A A| —|A| - AT4O'A| — | A A A —| — | A| A 44




297 1| 2|3 4|5 /|6 7| 8] 9 ioUTt 10| 11|12 |13 14| 15| 16 | 17 | 18 ¢ IN
799 £l g 533 | 485 | 169 | 332 | 407 | 556 | 180 | 363 | 440 { 3465 413 | 371 | 389 | 492 | 174 | 322 | 197 | 403 | 550 | 3311
Total| IR | 2R | 5 | 4 | 3 4| 4 | 5| 3| 4| 413 44| 4| 4|5 )| 3| 4| 3| 4|51 36
A A * 169 |82 |87 | A | A | — | — | A |+ | A | —| =14 A |A|A| —| —| = —| A| — 1 41
BeE & * 169 |82 87| — | A | A | O | A A | — | —| —141 1A A — A |3 — | A — | A 46
48 ZEIF Z * 170/ 8882 — | A | — O | —| —| —| —| #3139 ! —| -]+ 0| —| —| A A | — 1 43
FIER * 17087 83 A | — | — | —| O | A A|A| -1 4 I3 A|— | A —| =] A —| A 43
B2 RA |+ 170186 | 84| — | A | — | A | A| —| —| A | —1 41 ' A| — | —| A —| A —| A| A 43
KIE fisE | * 170 | 84 86 | A | A | — | — | — | — |3 | H4 | —1 471 — | — | A| —| —| =] A —] AT 39
#}K 1B * 170 /83|87 | A | A | — | —  A|A| — | A A 43143 — | — | A A A A| — | — 1 44
HLEHEH | 170183 |87 | A | — | A | A A|A|A| —|ATA3 I A | A — | A — | A A A| — 1 44
BERE— | 17079 191 | +3| — | A | A | — | — | A| — | +31 46! — | A| — | A | A| A | A| —| A 45
=g A& | * 170 | 78 192 A | A | A | — | A |3 | 43| — | —1 4TI A | A | A | A| —| —| —| A| A 45
56 |IUHEH 5BF | * 171 188 83 | A | A | A — | A — | A — | AT — | A || A|—|—|—]—=|—=14
MR * 171 /88|83 | A | +3| — | — | —| —|O| - A1 40!— | A A A —| — A | A|O! 43
AN K| * 171 186 |8 | X3 A | O A A +3| A O| -4 —|—|A|A|—| A —|A]| -4
Al FER |+ 171 186 |85 — | — | A | A |45 | — | — | — | A4 A | — | —| —| — | A A — | AL 4
M HRR * 17118586 | O | — | A | A |5 | A | A | — | —1 44 A | A | — | A A| — | —| A O 4
P & * 171 /85|86 | A | A | A | — | —|O| — | A| =1 M 145 | — | A| —| —| —| A A| —1 45
INR RS | * 17118586 A | A | — | — | A| — | — | A| -1 41143 | A —| A A| A A| — | AT 45
#il BE | * 171 |83 |88 A | A | — | A | A|A| A | A —1 46! — | A —| —| —| —| =] A |+ 4
64 B %X * 172 18884 | — | A | — | — | A|A| — | A A} 42 A — | A — Al A| — | A| —1 4
FHEEZ | * 172 186 |86 | A | +4 | — |43 | A | A | — | A| Ot 46! A| A O| —| —| —| —| A A} 40
66 |ILF FIT |* 173187186 | A | A | — | — | A|A|A|A| —1 82 A —| — | A A — | A| —| Al 44
67 | XK | * 174 18985 | — | A | — | — | — | 4| A | A | — 1 44 A A A A —|O| —| =] A1 4
=0 [ 174 189 |85 | A | A | — | — | — A | A — | A4 I A — | A —|—|—=]|A] A -1 4
A oKE * 174 189 |85 A | — | A | A A O | A| —| —141 1 A A A A A — | —| —| Al 44
HIEF | * 174 |86 188 +5 | A | A | — | A | A | A| — | AP 48— | A|O | A —|—|—|—| Al 40
ILE FH | 174 | 86 | 88| — | A | A | A | A|A|A|A| —1 844 A| — | A A —| — | A| — | +31 44
Ly Z2& | * 174 1 85|89 | A | A | A | A | A| —|A|A | B14T A — | A|A A —| A A| —1 42
KH (L& | * 174 184 |90 | A |3 | A | A | A | — | —| — | AT 4 I A | — | A A | A| — | A| — | A} 45
I B |+ 174 182192 — | A | — | O| A || A | A | AT 43 1+6| — | — | A — | A A | +4] — 1 49
75 |ERE MR * 17589 86 A | A | —| — | — | O | A| —| A4 ! A | +3| A A A A A — | — 1 46
IR HEAN [ * 175187 |1 88| — | — | A | — | A | A | — | A|ATAR2IA A — | — | A3 A A| A 46
g (= * 175 186 |89 | A | A | — | A | A | — | — | — | AL 43 'A| A | A |3 — | A| — | A| — ! 46
78 BRIl B— | * 176 189 |87 | — | A |3 | A | A | A | — | — | —1BITA|A| —| A — | +3| A — | — ! 44
fEBE = | * 176 18888 | — | A | — | — | — | A| —| — | +4i 42 1 +6 | A | A| — | O | A| — | A| —! 46
o BE |+ 176 |85 |91 | A | A | A | — | A | A | — | A| A 44 A — | — A A A A A|+3T 47
Nt IESE | % 176 |83 |93 | 3| A | — | — | — | A | A | +5| — 1 481 A | A | A|A| — | A A| — | A} 45
82 =ik 4 * 177 189 |88 | A | A | A | +3 | — | A | — | — | AT 4 I A | — | A| — | A A A| — | AT 42
BE B |+ 17718592 | A | A | A | A |45 | — | A| A | —1 48 A| A A O — | A A|A| A 44
84 |HT & * 178 187 |91 | A | A | A | — | — | A | A | — | +3! 46! A | A | A | A | A| A | A| — | —1 45
85 |HfE mih |* 179 183 |96 | A | A | — | — | A | A|A| — | A1 44 A A +T| A —| A A| A| A B2
86 |RE T | x 180 |89 |91 | +4 | A | — | — |3 | A | — | — | —1 46 !A | A | A| — | A — |+ A|O! 45
BH FE | * 180 |84 | 96 | A | A | A | A | 43| — | +5| A| A1 50! A| A | A | +3 | A A| — | — | — 1 46
88 | K Bz |* 182 188 |94 | A | 3| A | — | A A| — | A|O! 44— |0 |A|— | A —|+7T|+3]+31} 50
89 |#ARE THKER | * 183 /189 |94 | +3 | A | — | — | +5 | — | A | H4 | A1 BB IA | A|A|O| — | A — | A — 1 41
90 /MR EE | x 186 |81 (105 3 | A | A | A | A |+11| A | A| A1 581 — | — | A A| A |+3| A | — | +31 47
XKig ALFt AR | * 86
&= IR ST 88




